
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly
7/18/25

JWP-13BT Head Assembly
Product Images

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly
7/18/25

Description

Index Number Part Number Description Size Qty

1 JWP13BT-201 Gear Plate (includes #4,12)  1

2 JWP13BT-202 Head  1

4 JWP13BT-204 Spacer  4

5 JWP13BT-205 Gear Shaft (includes #6) 12t 1

6  Gear 52T 1

7 JWP13BT-207 Gear (includes #8)  1

8  Pinion Gear  1

9 JWP13BT-209 Rack  1

10 JWP13BT-210 Pin Ø10mm 1

11 JWP13BT-211 Shaft-Actuator  1

12 JWP13BT-212 Spacer  1

13 JWP13BT-213 Gear 75 T 1

14 JWP13BT-214 Gear 80 T 1

15 JWP13BT-215 Shaft  1

16 BB-6002ZZ Ball Bearing BB-6002 1

17 JWP13BT-217 Spring  1

18 SB-8MM Steel Ball Ø8mm 1

19 JWP13BT-219 Feed Rate Adjustment Shaft  1

20 JWP13BT-220 S-Ring S-8 1

21 JWP13BT-221 Feed Rate Selector  1

22 TS-1501051 Socket Head Cap Screw M4-0.7P x 15 1

23 JWP13BT-223 Bracket (includes #4,16)  1

24 JWP13BT-224 Spacer  2

25 JWP13BT-225 Spacer  4

26 JWP13BT-226 Chain Gear 8T 3

27 JWP13BT-227 S-Ring S-15 3

28 JWP13BT-228 Gear Guard (Includes Sponge)  1

29 TS-1502081 Socket Head Cap Screw M5-0.8Px35 2

30 TS-1502101 Socket Head Cap Screw M5-0.8Px45 2

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly


3 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly
7/18/25

31 JWP13BT-231 Cover  1

32 F009923 Socket Head Button Screw M4-0.7Px6 1

33 TS-1522021 Set Screw M5-0.8Px8 4

34 JWP13BT-234 Nut (Includes #85,89)  2

35 JWP13BT-235 Chip Deflector  1

36 JWP13BT-236 Deflector Cover  1

37 JWP13BT-237 Block  4

38 JWP13BT-238 Spring  4

39 JWP13BT-239 Plate  4

40 JWP13BT-240 Outfeed Roller  1

41 JWP13BT-241 Infeed Roller  1

42 JWP13BT-242 Chain 11 t 1

43 TS-2245102 Socket Round Head Screw M5-0.8Px10 9

44 JWP13BT-CA Cutterhead Assembly  1

48 JWP13BT-248 Belt Guard  1

49 TS-2244102 Socket Head Button Screw M4-0.7Px10 2

50 JWP13BT-250 Plate  1

51 TS-2246102 Socket Round Head Screw M6x10 2

52 TS-2248202 Socket Round Head Screw M8x20 1

53 TS-1490081 Hex Cap Screw M8x45 1

54 TS-1540061 Hex Nut M8 1

55 JWP13BT-255 Cursor  1

56 JWP13BT-256 Dust Chute  1

57 JWP13BT269-20 Cable Clamp  1

58 TS-2245122 Socket Round Head Screw M5x12 6

 JWP13BT-CDGA Cutting Depth Gauge Assembly (includes
#59-67)   

59 TS-1550021 Flat Washer M4 4

60 JWP13BT-260 Cutting Depth Gauge  1

61 JWP13BT-261 Arrow Plate  1

62 JWP13BT-262 Spring  1

63 JWP13BT-263 Shaft  1

64 JWP13BT-264 Pointer  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly


4 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly
7/18/25

65 JWP13BT-265 Spacer  1

66 TS-2244102 Socket Head Button Screw M4-0.7 x 10 1

67 TS-1540021 Hex Nut M4-0.7 1

69 JWP13BT-269 Motor Assembly  1

70 TS-1501041 Socket Head Cap Screw M4-0.7Px12 3

72 JWP13BT-272 Chain Long 1

73 JWP13BT-273 Chain, Feed Roller Short 1

75 TS-2245202 Socket Head Button Screw M5-0.8x20 2

76 JWP13BT-276 Belt 140J-6 1

77 JWP13BT-277 Shaft  1

78 TS-2361051 Lock Washer M5 2

79 JWP13BT-279 Bolt, Special 45L 2

80 TS-2244102 Socket Head Button Screw M4-0.7Px10 2

81 TS-1550021 Flat Washer M4 2

82 TS-1550021 Flat Washer M4 1

83 F009871 Socket Head Button Screw M3-0.5x10 1

84 TS-2244202 Socket Head Button Screw M4-0.7Px20 2

85 TS-0267021 Set Screw 1/4”-20x1/4” 2

86 TS-1521021 Set Screw M4-0.7Px5 1

87 JWP13BT-287 Knob  2

88 TS-1550061 Flat Washer M8 2

89 JWP13BT-289 PU Block  2

Additional Information

Stock Number 722130-2

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwp-13bt-head-assembly

